
Случаи 
вычитания 15-□







Найди число, которое на 5 меньше, чем

13  14  12  11  10  

7  8  9 6 5 



Найди число, которое на 5 больше, чем

6  9  7  8  10  

12  11  14  13 15  









КАК РАССУЖДАЛИ ПРИ ВЫЧИТАНИИ?

15 – 7 =        15 – 7 =

                           85 2 7

8 8





ЗАПОМНИ!

15 – 6 = 9 
15 – 7 = 8

15 – 8 = 7 
15 – 9 = 6





Яблок - ? кг 8 кг и 8 кг

Груш - 10 кг
- на ? >

https://vk.com/away.php?utf=1&to=https%3A%2F%2Finfourok.ru%2Fprezentaciya
-matematika-sluchai-vichitaniya-2960881.html


